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SA AE
M MR RS
ol ZEAY (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 22,680
ZUHRxE 96,664 188,623 61,959
= 2R
= 28,912
Al 67,460
401 AIEHIX R0 96,664 188,623 A\61,959
= 292
= 28,912
Al 67,460
01 Al&H| 96,664 188,623 261,959
O2us 324xd(2ha) 12,276
= 226
< 3,615
Al 8,435
O THoH 2 XI =& (14ha) 84,388
= 66
< 25,297
Al 59,025
NEEDESS 416,340 416,344 n4
= 208,170
== 62,450
Al 145,720
401 Al HIZL 201 416,340 416,344 Yav:!
= 208,170
== 62,450
Al 145,720
01 Al&HI 415,140 415,144 v
OXI%E35te =4 (20ha) 415,140
= 207,570
S 62,270
Al 145,300
03 Al 20HHI 1,200 1,200 0
OXNSSete £d =& AIE=20t| 1,200
= 600
= 180
Al 420
™= IO 685,606 745,264 A59,658
= 342,802
= 102,841
Al 239,963
401 AlZHIZ SO 685,606 745,264 A\59,658
= 342,802
= 102,841




SA AE
M MR RS
ol ZEAY (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 239,963
01 AlZ2H| 683,606 743,264 A\59,658
OZXEX JHI1(250ha) 431,920
= 215,960
= 64,788
Al 151,172
OLHE M =IH2I1(50ha) 189,850
= 94,925
= 28,477
Al 66,448
OatE2+=%(10ha) 27,120
= 13,560
= 4,068
Al 9,492
O2ULt2 JHRI1(10ha) 17,357
= 8,678
= 2,604
Al 6.075
O ELIS J+3271(10ha) 17,359
= 8,679
= 2,604
Al 6.076
03 Al =2 THHI 2,000 2,000 0
O=IHIIAMY =2 AIE 20| 2,000
= 1,000
= 300
Al 700
S34te I 84,872 123,812 /38,940
= 43,186
== 12,506
Al 29,180
101 @124H| 73,336 112,94 39,658
= 36,668
[ 11,001
Al 25,667
M ORNZZ2NSE S 73,336 112,994 A39,658
O=IHRIIXF AT ALEr QI2AHI (1) 24,410
= 12,205
== 3,662
Al 8,543
O=JIRIIMES 21244 (2H) 48,926
= 24,463
s 7,339




SN D
3 Mg
Chel: ALY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 17,124
201 et 3| 11,536 10,818 718
= 6,518
= 1,505
Al 3,513
01 AtR2t2|HI 9,036 8,889 147
O EAE NFHl & QHNES
S 1,000
= 750
= 75
Al 175
O IINEES WSt & HHES S 8,036
= 4,518
= 1,095
Al 2,463
02 S3=gHl 2,500 1,929 571
O=IHIINEES ==Hl, S4lHl & 2,500
= 1,250
= 375
Al 875
&tX2e| XA 13,768 16,878 A3,110
201 fer= 3| 9,668 1,778 A2,110
01 At 2|l 9,400 10,660 21,260
O&HXI72%& BEH & =X2L 9,000
OAlaH A AtXj 2] HRES(EEE . EHS) 400
2 52434l 268 1,118 A850
OMNEEN I S &l SIIR8E= 268
202 04dl 4,100 4,500 2400
01 =LHNHI 4,100 4,500 A400
OLXNEE & EATHF o1IHX 22l 04| 1,600
Oggol stots thal &It 2,500
AHEALS 91,305 66,356 24,949
308 XXM SOIA 91,305 66,356 24,949
07 AX L= 91,306 66,356 24,949
OAFZAIY (AIHIRES3) 91,306
APAREY 2A R XIS AE AL 14,625 5,600 9,025
= 7,312
< 2,1%
Al 5,119
401 Al HIZL 201 14,625 5,600 9,025
= 7,312
== 2,194
Al 5,119




S AR
Mu: M2 KRS

=aak 5;/\}% EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 14,625 5,600 9,025
OLHAIEY 2l 24 XS AEiEA 89 14,625
= 7,312
< 2,194
Al 5,119
AHALEHS Ol E 30,570 0 30,570
= 12,228
< 12,839
Al 5,503
101 e124d| 30,570 0 30,570
= 12,228
=S 12,839
Al 5,503
04 JIZtN2Z2 XS 2 30,570 0 30,570
O&HAIE S Z ol & el 2 | 30,570
= 12,228
= 12,839
Al 5,503
SRS I |7 368,716 0 368,716
= 368,716
401 AlZHIZ S 0HbI 368,716 0 368,716
= 368,716
01 Al&HI 368,716 0 368,716
OXFALER THoll =AM 266,543
= 266,543
O llo STA 102,173
= 102,173
AURTHESE HI(RHA) 100,000 0 100,000
401 AlZHIZ SO 100,000 0 100,000
01 A28l 100,000 0 100,000
O2LRMHESE gL H 100,000
LAHEESIME2 28 35,000 0 35,000
307 elztol & 35,000 0 35,000
02 LB HAHE L 20,000 0 20,000
Ottel2etMge gdal 128 =29 20,000
03 2 HEE=2SHIE X 15,000 0 15,000
OttgE=atiga 23 15,000
gH=AL 54 9,400 7,040 2,360
=S 1,480
Al 7,920
2gel HEAAMX B8 7,400 5,040 2,360
< 1,480
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SN D
3 Mg
ol SMHoIE ¥ AEsl (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 6,676
=S 2,003
Al 4,673
401 Al HIZ R 0HbI 13,352 13,352 0
= 6.676
= 2,003
Al 4,673
01 AlZH| 13,352 13,352 0
OS2 HZ22l(50ha) 13,352
= 6.676
= 2,003
Al 4,673
Zletd SHe- 8,000 8,000 0
= 4,000
= 1,200
Al 2,800
301 EtE N = 8,000 8,000 0
= 4,000
< 1,200
Al 2,800
14 IIEt2 8= 8,000 8,000 0
Ozletd Sl+2 cd24= 8,000
= 4,000
== 1,200
Al 2,800
SAE =E 254,365 241,1% 13,169
= 44,001
== 29,721
Al 180,643
FOt=MEd |A2e 35,744 40,744 5,000
201 2= 744 744 0
2 S5=2g4l 744 744 0
OsOt=MERA(HIIA) 600
SOt=ME2(=ZAl) 144
401 AlEHIZ 201 35,000 40,000 25,000
01 A28l 35,000 40,000 25,000
SO0t AIE222 & 2202 35,000
AEMHAE R0 2SR (K0l WEEH) 88,002 114,664 N26,662
= 44,001
= 13,200
Al 30,801
307 gl2to| & 88,002 114,664 N26,662
= 44,001




SA AE
M MR R
ool SAE =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 13,200
Al 30,801
05 2ItRIE = 88,002 114,664 N26,662
OR0lz WFEE 2% 83,002
= 44,001
< 13,200
Al 30,801
MEISRSE MEisid & 22l 36,060 51,513 15,453
= 5,410
Al 30,650
401 Al HIZ S 0HbI 36,060 51,513 15,453
= 5,410
Al 30,650
01 A28l 36,060 51,513 15,453
OMegt= MEiE sXZ 36,060
s 5,410
Al 30,650
=ol &0t 2 A 35,014 34,275 739
101 @124H| 33,414 32,615 79
M ORIMZZ2NSE S 33,414 32,615 79
O=oli&dr 2|
80,3203 x2H 222 +8 28,273
OHMHEI} ZE4g
80,3202 x2& x4 +83 5,141
201 et 3| 1,600 1,660 260
01 At2t2l] 1,000 1,000 0
Osdfd Z208 22 u7 & MRES 1,000
2 s3=234l 600 660 260
O=& olg SaHI(2H2) 600
AAS S A 20,000 0 20,000
401 AIEHIX SO 20,000 20,000
01 AlZH| 20,000 20,000
Os2d 2AI48 FHI(=F 032
B ) 20,000
SEAMXRA= ZEAY 2,500 0 2,500
201 =3 1,000 1,000
01 At22t2l] 1,000 1,000
O=gadiR= & A S 1,000
202 04l 1,500 1,500
01 2LHoIH 1,500 1,500
O=gadiRs &d S0 1,500
sSMRtel EAY 37,045 0 37,045

H

1,111
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2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 535,369

101 @1A4H| 605,647 520,905 14,742
=S 72,678
Al 532,969

04 JIZtN2Z2XNSE 605,647 590,905 14,742
O&EZAIR 214 605,647
< 72,678
Al 532,969

201 er23 | 3,000 3,000 0
= 600
Al 2,400

01 AtR2te|Hl 3,000 3,000 0
Ok g 3,000
= 600
Al 2,400

AHETHO L Kt EI(AMEXS0ILRISITH) 786,310 794,634 A\8,324
= 314,524
= 141,536
Al 330,250

101 212A4H| 786,310 769,016 17,294
= 314,524
= 141,536
Al 330,250

MU IIRINZZE2NSES 786,310 769,016 17,294
OMEdEU S o1l S 786,310
= 314,524
= 141,536
Al 330,250

SENEHAH 2= L 29 17,700 19,700 2,000
= 7,080
& 3,186
Al 7,434

201 er23 | 17,700 19,700 22,000
= 7,080
< 3,186
Al 7,434

01 At2t2lt] 9,700 9,700 0
OL=S/AEQAAERA X S 9,700
= 3,880
s 1,746
Al 4,074

2 S5=2g4l 8,000 10,000 22,000
ORUZ At RAIE= 6,000
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2A:

X XH -
o=

Sel: o (2912
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,236
=S 1,006
Al 2,348
201 fer=3| 5,590 6,110 A520
= 2,236
= 1,006
Al 2,348
02 S3=gHl 5,590 6,110 A520
OMSASATAAR(SAT) 5,590
= 2,236
= 1,006
Al 2,348
AENFESH L ZA 3,972 3,972
308 AXIHSOIA 3,972 3,972
07 HXHH 2R 52 3,972 3,972
Oat2Z Al Aatelsd NSHI(AHISE3) 3,972
g & SHE 2 1,237,378 583,488 653,890
= 177,200
= 528,286
Al 531,892
Y 253,300 223,000 30,300
[ 177,200
Al 76,100
401 A2 HIZL R 0HbI 253,300 223,000 30,300
= 177,200
Al 76,100
01 Al&HI 251,800 221,500 30,300
Ot AT MM (1km) 251,800
= 176,500
Al 75,300
03 AIZSTHYI 1,500 1,500 0
Oogrdd 20l 1,500
[ 700
Al 800
AT o AT 22| (MEALY) 397,552 84,784 312,768
< 278,286
Al 119,266
101 @124H| 31,552 30,784 768
= 22,086
Al 9,466
MU IIRIMZZENSES 31,552 30,784 768
O (4Y) 31,552
= 22,086




SN D
3 Mg
oelr gk 2 SeE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 9,466
401 AIEHIZ SR THYI 366,000 54,000 312,000
== 256,200
Al 109,800
01 Al&HI 366,000 54,000 312,000
O & 22=(36km) 162,000
S 113,400
Al 48,600
O =P Z=INZH(3km) 204,000
= 142,800
Al 61,200
Al FX2el 9,400 11,400 A2,000
201 et 3| 4,400 4,400 0
01 At2t2l] 4,400 4,400 0
O2ZAEF 2| HHl gXHES
(EEM, 2401 8) 4,400
206 M=l 5,000 7,000 22,000
01 MZH| 5,000 7,000 A2,000
Ooggy 2 S 5,000
S4E Zd| 11,800 3,900 7,900
201 er=2 3| 11,800 3,900 7,900
02 S3=gHl 11,800 3,900 7,900
oStz atdd dles 3,000
OSKZ ot Hotx UWREL 800
Ostz stEa B 2,000
OSttz olda tHAC|AIE £X 6,000
=2 T H 2Ae(SAZ 2ol (HEALY) 500,000 200,000 300,000
=S 250,000
Al 250,000
401 Al HIZ R 0HHI 500,000 200,000 300,000
== 250,000
Al 250,000
01 Al&HI 500,000 200,000 300,000
OS4tz At (DIS4 aetdt S) 500,000
& 250,000
Al 250,000
SHZ 2el 65,326 60,404 4,922
101 @124H| 58,700 47,904 10,79%
MU IIRINZZE2NSES 58,700 47,904 10,79%6
Ostz tI=&Y U2Y
85,8503 *5H*25 2 *32| 32,194
Osle stttz 57 212Y
80,3202 x5 10 +33] 12,048




SA AE
M A2l XRls
oelr gk 2 SeE 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS¢z L FA(EF) S) URY
80,3202 x3Z+52 x123] 14,458
201 er2 3| 3,700 800 2,900
02 S3=gHl 3,700 600 3,100
Osttz &l t=Jl =5=ol 1,700
OsSttz &l =778 S 2,000
206 MH=HI 2,926 3,700 NTT4
01 MHZHI 2,926 3,700 NTT4
OOI=Jl Mt (2d, 2, IXE S) 1,200
OW=&g &Il 2] 1,000
Osatz oi=J| =Xl 726
SMEALY 289,765 298,583 A\8,818
= 174,483
== 34,216
Al 81,066
SN S 289,765 298,583 /8,818
= 174,483
= 34,216
Al 81,066
ALISHEEE 2 153,047 133,077 19,970
= 111,018
= 12,609
Al 29,420
401 AIEHIX R0 183,047 133,077 19,970
= 111,018
= 12,609
Al 29,420
01 Al&H| 153,047 133,077 19,970
OALIRHEESE LHAE 153,047
= 111,018
< 12,609
Al 29,420
LotH S A 23,875 49,320 N25,445
= 12,294
[ 3,105
Al 8,476
201 er23 | 12,875 13,021 A146
= 6,629
== 1,675
Al 4,571
01 At22t2l] 8.875 9,051 AT76
OateE SN 2SHI(MBHHNS S+
7 5) 8,875




SA AE
M =MCATA
=Rl MEHMNS (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 4,569
=S 1,185
Al 3,151
02 35244l 4,000 3,970 30
Outdgois2M F77e S 3,000
= 1,545
=S 390
Al 1,065
OatdgoiSLM I =Xdl S 1,000
= 515
= 130
Al 355
202 04| 3,000 3,000 0
= 1,545
= 390
Al 1,065
01 2L A LI 3,000 3,000 0
OutEEaiSL M 23018l 3,000
= 1,545
= 390
Al 1,065
206 M=l 3,000 3,000 0
= 1,545
= 390
Al 1,065
01 M=4l 3,000 3,000 0
Ogdisgmad 257 (M, 255 S) 3,000
= 1,545
= 390
Al 1,065
401 AIEHIX S0 5,000 30,299 N25,299
= 2,575
= 650
Al 1,775
01 Al&H| 5,000 30,299 N25,299
OdetEaiE LMAE 5,000
= 2,575
== 650
Al 1,775
SrETHSH Xt EDI(AHHE o SoIZ LA E) 90,737 97,620 2,117
= 49,868
< 14,961
Al 34,908
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